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Ligne 18

main malloc

nt x = 777
o1 |- F 04 ©200 ©203

©2 ©5 0201 ©204

©3 ©6 0202 ©205




Ligne 19

test
010 015
main @11 016 malloc
o1 inotl 1X??:?????? Q4 Q12 @17 ©200 ©203
@ @5 @13 018 ©201 ©204
©3 0 014 019 ©202 ©205




Ligne 1

test
oo | M RO 015
00000001
. int * r = Q1
main @11 00600061 @16 malloc
int x = 7?77
@1 01177777 ©4 012 @17 @©200 ©203
@2 ©5 @13 ©18 ©201 ©204
@3 06 014 @19 ©202 ©205




Ligne 2

test
oo | M RO 015
00000001
. int * r = Q1
main @11 00600061 @16 malloc

int x = 7?77 int a = 777
@1 01177777 ©4 012 10179977 @17 @©200 ©203
@2 ©5 @13 ©18 ©201 ©204
@3 06 014 @19 ©202 ©205




Ligne 3

test
oo | M RO 015
00000001
. int * r = Q1
main @11 00600061 @16 malloc

int x = 7?77 int a = 777
@1 01177797 ©4 @12 10177777 @17 ©200 ©203

double b = 777
@2 ©5 013 10177777 @18 ©201 ©204
@3 06 014 10177777 @19 ©202 ©205




Ligne 4

test
010 int * p = @1 |int * q = @777 015
00000001 0007?7777
. int * r = Q1
main @11 00600061 @16 malloc
int x = 7?77 int a = 777

@1 01177777 ©4 @12 10127777 @17 ©200 ©203

double b = 777
@2 ©5 013 10179777 @18 ©201 ©204
@3 06 014 10197777 @19 ©202 ©205




Ligne 5

test
010 int * p = @1 |int * q = @777 015
00000001 0007?7777
. int * r = Q1
main @11 00600061 @16 malloc
int x = 7?77 int a = 42

@1 01177777 ©4 @12 00101010 @17 ©200 ©203

double b = 777
@2 ©5 013 10179777 @18 ©201 ©204
@3 06 014 10197777 @19 ©202 ©205




Ligne 6

test
010 int * p = @1 |int * q = @777 015
00000001 0007?7777
. int * r = Q1
main @11 00600061 @16 malloc

int x = 7?77 int a = 42

@1 01177777 ©4 @12 00101010 @17 ©200 ©203
double b = 73.5

@2 ©5 013 11011111 @18 ©201 ©204
@3 06 014 10100000 @19 ©202 ©205




Ligne 7

test
010 int * p = @12 |int * q = @777 015
00001100 0007?7777
. int * r = Q1
main @11 00600061 @16 malloc

int x = 7?77 int a = 42

@1 01177777 ©4 @12 00101010 @17 ©200 ©203
double b = 73.5

@2 ©5 013 11011111 @18 ©201 ©204
@3 06 014 10100000 @19 ©202 ©205




Ligne 8

test
010 int * p = @12 |int * q = 0200 015
00001100 11001000
. int * r = Q1
main @11 00600061 @16 malloc
int x = 7?77 int a = 42 int = 777
o 0117?7777 @4 Q12 00101010 @17 @200 101777277 0203
double b = 73.5
@2 ©5 013 11011111 @18 ©201 ©204
@3 06 014 10100000 @19 ©202 ©205




Ligne 9

test
010 int * p = @12 |int * q = 0200 015
00001100 11001000
. int * r = Q1
main @11 00600061 @16 malloc
int x = 7?77 int a = 115 int = 777
o 0117?7777 @4 Q12 01110011 @17 @200 101777277 0203
double b = 73.5
@2 ©5 013 11011111 @18 ©201 ©204
@3 06 014 10100000 @19 ©202 ©205




Ligne 10

test
010 int * p = @12 |int * q = 0200 015
00001100 11001000
. int * r = Q1
main @11 00600061 @16 malloc
int x = 7?77 int a = 115 int = 120
o 01177777 @4 Q12 01110011 @17 @200 01111000 @203
double b = 73.5
@2 ©5 013 11011111 @18 ©201 ©204
@3 06 014 10100000 @19 ©202 ©205




Ligne 11

test
010 int * p = @12 |int * q = 0200 015
00001100 11001000
. int * r = Q1
main @11 00600061 @16 malloc
int x = 235 int a = 115 int = 120
o 11101011 04 012 01110011 @17 @200 01111000 @203
double b = 73.5
@2 ©5 013 11011111 @18 ©201 ©204
@3 06 014 10100000 @19 ©202 ©205




Ligne 12

test
010 int * p = @12 | int * q = 012 015
00001100 00001100
. int * r = Q1
main @11 00600061 @16 malloc
int x = 235 int a = 115 int = 120
o 11101011 04 012 01110011 @17 @200 01111000 @203
double b = 73.5
@2 ©5 013 11011111 @18 ©201 ©204
@3 06 014 10100000 @19 ©202 ©205




Ligne 13

test
010 int * p = @201 | int * q = 012 015
00001101 00001100
. int * r = Q1
main @11 00600061 @16 malloc

int x = 235 int a = 115 int = 120
o 11101011 04 012 01110011 @17 @200 01111000 @203

double b = 73.5 int = 777
@2 ©5 013 11011111 @18 ©201 01077777 ©204
@3 06 014 10100000 @19 ©202 ©205




Ligne 14

test
010 int * p = @201 | int * q = 012 015
00001101 00001100
. int * r = Q1
main @11 00600061 @16 malloc

int x = 235 int a = 115 int = 120
o 11101011 04 012 01110011 @17 @200 01111000 @203

double b = 73.5 int = 230
@2 ©5 013 11011111 @18 ©201 11100110 ©204
@3 06 014 10100000 @19 ©202 ©205




Ligne 15

test
010 int * p = @201 | int * q = 012 015
00001101 00001100
. int * r = Q1
main @11 00600061 @16 malloc

int x = 465 int a = 115 int = 120
0l 11010001 04 012 01110011 @17 @200 01111000 @203

double b = 73.5 int = 230
@2 ©5 013 11011111 @18 ©201 11100110 ©204
@3 06 014 10100000 @19 ©202 ©205




Ligne 16

main malloc
int x = 465 int = 120
o 11010001 04 @200 01111000 @203
int = 230
@2 ©5 ©201 11100110 ©204
@3 ©6 ©202 ©205




Ligne 19

main malloc
int x = 465 int = 120
o 11010001 04 @200 01111000 @203
int = 230
@2 ©5 ©201 11100110 ©204
@3 ©6 ©202 ©205




Ligne 20

main malloc
int x = 465 int = 120
o 11010001 04 @200 01111000 @203
int = 230
@2 ©5 ©201 11100110 ©204
@3 ©6 ©202 ©205




Ligne 21

main malloc
int x = 465 int = 120
o 11010001 04 @200 01111000 @203
int = 230
@2 ©5 ©201 11100110 ©204
@3 ©6 ©202 ©205




